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5. Whenever the skyis clear, you can see Eml\u.m\g ——

PART-A o
(@ (b) (©
Spotting Errors

Directions : Each item in this section has a sentence with three underlined parts labelled (@), () and (¢), No Error
; ; 6. I'm not working tomorrow, SO0 I don’t had to E i

Read each sentence to find out whether there is any error in any underlined part. Indicate your response jy, e s @

(c)
(a) (b)

the Answer Sheet against the corresponding letter Le., (a) or (b) or (c). If you find no error, your response

should be indicated as (d).

. o . o
1, Over long periods of time, layers of sediments builds up to a height of a few kilometers. 7.  Shedidn’t tell anybody about her plans. No Error
R
b (c) @
(a) Ol . © (a) (b)
No Error
K 8.  She wouldn't have has an accident, if she had driven carefully.
b e .~
(a) (o) (©
2. Whenagasis cooled down it turns into a liquid from a process called condensation. \
No Error
® ®) v ©
(d)
No Error
d)

9. Iwill watch film ifI finish the work in time. No Error

3. Ifyouwant toknow thenews you canreadanewspaper. No Error

(a) (b) (c) @

@) ®) © @~

10. In 1989, the government did an about-face and Iran restored it’s family planning program.

4.  Columbus made his first voyage from Europe to America on 1492

(a) ¥
No Error
@ No Error
k. (d)
¥ ASGT-F-ENG
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Synonyms

pirect

,eh _M_w“n onse in YOur Answer Sheet accordingly.
LD uring the pandemic the indigent people had | 16.
to suffer a lot.
(a) verypoor
() opulent
(¢c) solvent v
(d) prosperous
12. She had no idea what made him angry in one | 3
minute and jovial the next.
(a) aggrieved ¥
(b) melancholic
(¢) doleful
(d) mirthful
13. It is sheer lunacy to drive a car in this frosty
weather. 18.
(a) prudence
(b) normalcy
(c) insanity
(d) sanity
14. Operating on a child with cancer needs | 19.
meticulous planning and teamwork.
(a) strong
() long
(©  playful
(d)  scrupulous
15. 155.055 of over-speeding the vehicle can be
m %MFE, but it is important not to take 20
- consequences lightly.
o (@)  humdrum
Q. ()  dreary
m (©  exciting
o @) agitating
. ASGT-F-ENG

nbl>v

. Bach item in this section consists of a sentence with an underlined word followed p
e Y four

(@), ®), © and (d). Select the option that is nearest in meaning to the underlined word anq ,
o ark

The redemption will now depend on his
strategy of inclusiveness. ow

(a) retrieval
(b) forfeiture
(c) corporation
(d) desecration

Only three candidates are now in contention
for the title.

———=l10n

(a) involved in dispute

(b) in agreement with each other
(¢) chance of winning

(d) amiable to each other

All my fishing paraphernalia is in the car.

(a) boxes

(b) accessories
(¢c) fuel

(d food

The public watched in astonishment as he
took a sudden jump from the bridge.

(a) anticipation

() hurriedly Ag
(c) wonderment x B
(@) calmness

Drinking inordinate amount of liquor is not
good for health.

(a) temperate
(b)  exorbitant
(©  moderate
(@  regular

ST

ing i in
Directions : Each of the following items

jumb ,
namely (@), (®), (¢) and (d)- You are req4t

mark your response accordingly-

292. for hours in the shop

B e

ordering of words

led. These parts have beern labelled

mber it better

21. because I feel Eﬂ\—o\\\\\

e

P Q

I make at least three drafts of a song

S
The correct sequence should be :
(a) SPRQ
() RQPS
(© QRSP
@ PRSQ

for hours 1% = — ——

1] Q
The correct sequence should be :
(a) SPRQ
() RQPS
(©), QRPS
@ PRSQ
living in Russia country jmmediately

s

o — ——

P Q

The correct sequence should be :

(a) SPRQ
(b) RPSQ
(¢) RSQP
(d PRSQ
ASGT-F-ENG

this gection €O
p, @ Rand S
red to re-arTange ¢

a gunman who held

agunman ¥~ —

Given below €
he \.:\:En& pa

ey e WN&:\
na senten e \. :‘\2\03\ hat ios
ts Ol uerv
he PO r sed 7
. tence, t o fou
nsists of @ < n sentencé ar f \ﬂanNv\ amn

rts of

ite moamawuwﬁm,

when you write SOREE

d\wékb oF

Ukraine has urged its citizens

Ukraine has Ufe® =~ ——

(5—A)

a hostage

s

R

B o

demanded ransom of T

to leave the

e

R S
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25.

26.

24, TippIng

roofs off houses and raising fears of  coast of Madagascar in
- 5 the early p,
cyclone Emnati crashed into the southeastern  floodin,
g and food shortages j
1n the

R S Tegion

urs,

The correct sequence should be :
(a) SPRQ
(b) RPSQ
(¢ RQPS
(d PRSQ

ecology is protected and a ic li i
quatic life thrives ~ we need to utilj
= utilize the resources of water
. Q
for different purposes while ensuring that its natural
R S
The correct sequence should be :
(a) SPRQ
(b) RQPS
(c) QRSP
(d) PRSQ
very difficult isibili
: cul the poor visibility made the movement of traffic
Q R
The correct sequence should be :
(a) SPRQ
(b) RQPS
(© QRPS
(@) QSrp

A8=a) e '

27. avenues for the patients to indict  but rarely is it the other way round

3 Q
there are multiple legal ~ the doctors
R S

The correct sequence should be :

(a) SPRQ

(b RPSQ

(c) QRPS

(d) QSRP

28. flight, and each person  her own journey  lifeis a solo  makes his or
i ——
P Q R S

The correct sequence should be :

(a) SPRQ

(b) RPQS

(¢) RPSQ

(d PQRS

29. madeitevolve technologies and equipment has
P Q
into a rare centre of excellence ~ adoption of the latest
R S

The correct sequence should be :

(a) PQRS

(b) RPQS

(¢ SQPR

(d QSRP

please mark the same be made in response to this notice

o 2

you have any complaint to

to the concerned authority
R S

rrect sequence should be :
iy
(a) PQRS
() RPQS
(c) SQPR

RQPS

(7-A)
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options, (a), (®), (c) and (d). Select the option that is opposite in meaning to the underij,

Antonyms

izections : Each item in this section consists of a sentence with an underlined word fo);
0

mark your response in your Answer Sheet accordingly.

31. The parental support can fortify a child’s

learning.
(a)
(b)
(¢) brace

(d) strengthen

weaken
encourage

32. Now we can have another dazzling thought,

as an outcome of my brilliant research!
(a) splendid

(b) murky

(¢) dazing

(d) fulgent

33. The group held some clandestine meetings to

resolve the matter.
(a) secret

(b)  covert

(¢)  sneaky

(d) public

34. In the winters, the countryside view is
and the house is drafty.
(a) cheerless
(b)  verdant
(¢)  desolate
(d)

bare

35. Amid commotion the leader
supporters remained passive.

(a) quietude

(b)  uproar

(¢)  tempest

(d) stir

ASGT-F-ENG

and his

37.

38.

bleak
39.

40.

(8-A)

36.

mum& by fou,
Worg ang

He had the audacity to blame him

(a) boldness
(b)  vigour

(¢)  temerity
(d) politeness

They are making plans for the abate

the nuisance within a specified ?7525 ;
(a) subsidence

(b) ebbing

()  accumulation

(d) mitigation

There is exponential growth in the

development of the scientific researches in the
recent few decades.

(a) aggressive
(b) rampant
()  meager

(d) augmented

He was known for his sagacity.

(a) prudence
(b)  wisdom
(¢) ignorance
(d) sapience

The river Gan, 1 i
ges anEng
: . in the wﬂv of

(a)  concludes
()  flows

(¢)  originates
(d)  merges

Idioms and Phrases

Directions : Given below are some idioms/phrases followed
the most appropriate answer from among the options (a), ®),

41. The lion’s share
(a) A portion of something
(b) The largest and the best part of
something
(¢) Animportant decision
(@ An aggressive statement
42. Spill the beans
(a) Reveal a secret
(b) Forced to leave belongings
(c) Share the news
(d) Take offence at someone’s rude
behaviour
43. Cook someone’s goose
(a) To assist others
(b) Hypnotize other’s mind
(¢) To spoil other’s plans
(@ Inviting misfortune
44. Disappear into thin air
(a) Lost forever
(b) Become forgetful
(¢) Become uncaring
(d) Disappear suddenly
45, Put the screws on
(a) Forcing someone to do what you want
(b) Never letting go of things
(¢ Keep the past alive
(d) Using someone’s trick for own benefit
ASGT-F-ENG

46.

47.

48.

49.

50.

(9-A)

; ch. Choosé
by four alternative meanings for €%

(c) or (d).

Sit on the fence
(a) Avoid meeting someone

(b) Waiting patiently
(¢) Avoid taking sides
(d) Hiding from someone

Be as sharp as a tack

(a) A talkative person

b)) A shrewd person

(¢) A clumsy person

(d) A clever person

From pillar to post

(a) Upside down

() Keep moving from one place to another
(¢) Constructing 2 huge building

(d) Jumping from the top of the mountain
Heath Robinson

(a) Very complicated system or machine for
doing a simple task
Treating everyone as enemy, when they

(b)

are not

() Sleeping all day, doing nothing

(d) Very lazy person, slow in action

As thick as thieves

(a) Dumb person

(b) Good for nothing

(¢) Someone who wuses everyone for
personal gain

@

Very close friends who are looked upon
with suspicion
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. .:m_ﬂm . d owwawmﬂ
RURL oLIC] 39T Py v is made
fer # i mNMw 10 ke T T IH I H w @ fiv ( ﬂﬁ 51. Two identical spring balances S; and Sy are 53. A sphere B <o7.5.6 mwb water- While on
H IR 3k : | T&r w | fi < with lower density b A olume
T g & | TG Sy S, T UTGHTh A a<g(g mﬁJ ® B %F ) 1 connected one after the other and are held Earth, it floats oD water With its Vv e
. e =Ry . ) , 0
w; 3k W, %, @ q=—I Sd.w,.ﬁ ¥ iy =3 . wv Y W R vertically as shown in the figure. A mass of [AY (f; <D mﬁUB@nM@&..On ew.meMaWManmﬂmSob
f : (g is the accel®
@ foet w<w | g _ ’ S, and Sy are W, and Wy respectively, then : MMHM:NE suter SPace; its mcvamnmm& yvolume
2=1h i . .
in water 18 £,V. Then
S PW (b) a
f,=1-2
o=@ mvm w Hefi
ﬂ © fp>f A\Wy > W, (b) mwuﬁ\wvb
@ f,= a # © f>h
S| P W, se 5 g o on 2
3 qEET I (container), X 3R Y 7 | g % are
I waeht Al T ' SR Sy — W Two identical containers X mb.m. wam
AT ¥ of N Mw kS g M connected at the bottom by 2 thin nﬁwwm °
wwmﬂ. T e R, S T o Fea o negligible volume- The tube has 2 valve in it,
10 kg T} | YR ¥ U X ¥ ¥ h 3 e pown in the figure- Initially container M
ST T jqui to height b in it a2
(a) W;= Gd W g T has a liquid filled up to -
y=5kg 3 Wy=10kg . wm &w wﬂ.ﬂm Y & | 99 919 10kg R 2 e Y i empty. When the valve is
(b) €H =10 Wm @ﬂ.ﬂ W. = ’ &dw i .m R CICGERCIEN .m recl Omumb.m@“ both nOﬂ&WwmeHm have m@ﬁm._. gogﬂ of
2=5ke HIRATEEAT (equilibrium) # grar 3 (@) W, =5kgand Wy=10ke Jiquid in equilibrivm. If the initial (before the
(© Wy=5kg 3 Wy=5k T I % Ted . | 3 (e valve is opened) potential energy of the liquid
U P, 2 ot sifm @@ﬂv B S St @ Wy =10k and Wp=5ke is P, and the final potential energy is Py
d =
@ W,=10kg 3 W,=10kg e Fit Py R, Al - © W,=5kg and Wp=5kg naw“ .
Y @ W;=10kg and Wp=10kg
52. 20 m 5 R == == ! 2 o
aﬂB@Mﬂgﬁu ® B & 1 o 12 s 1 Seces EIiiz
S S e
m@ - ﬁﬂmﬂ s IR | T W R R mu..nmmnuunn h 52. A stone is thrown horizontally from the top of .um.n.qnnmum.l. h
siv T R Ble=10m’Ng FEIZ3 . 20 m high building with a speed of EZ=E3
B R Ve w@ T, BT WMMMM 12 m/s. It hits the ground at a distance R from SZZ=:
? === ===z
’ === —y——— the building. Taking g = 10 m/s® and B oy
c @ R=12m neglecting air resistance will give :
MI (b)) R=18m (a) P,=P, (a R=12m (a) Py=Py
w © R=24m ® P,=4p, ) R=18m (b Py=4Pp
m. @ R=30m © Py =2P, (¢ R=24m () Py=2P,
ASGT-F-ENG @ P,= 8P, d R=30m (d P,;=8P,
(10-A)
ASGT-F-ENG (1M-A)
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56.

57,

58.

55. ® 1 R B I 99 ¥ wwww 9w
(constant speed) v & Ty & W Tq
M g H TR B A T F
S R 2 ke
(a) m

R
.
b)) —
2R
(c) m
7R
@ o
60.
gwﬂﬂ@ﬂvogﬂ
. mass) R T 5.
&wmﬂ%w_ﬁﬁiw%%%
60 w.&ﬁwﬂﬂmwﬂﬂ_ﬁ?wﬁ
(@ 86N
(b) 43N
(¢ 50N
d 67N
61
e & 8 . .
(a) wﬂ_._wm ,ﬁﬁwﬂﬁﬂiw.v
b) wWe
(©) Suwe
@ s
B N
.au%onm:ﬂmv e@ﬂﬁmwﬂww%-
, %ﬂﬂn%ﬁ:&#ﬂ&ﬁﬂ@ﬁw_
. oy )
T Fe )
@ 13fs ﬁiaﬂm%uﬁmmﬂ_
b 23k 3
(c) wwﬂmw
(d) Wﬂﬂw
ASGT-F-ENG
(12-4)

59. ggg

%
m:@wm_wﬂu.@mwﬁmﬁj
Amv @uﬂﬂ dﬂq Qu_mnm

zzs

-

(Pliocene) tocene) %w
QUV AmO—Oanmv @ﬂﬁ j
(Pleistocene) Iy N
() g
1 .
Agoeouﬂm_u (Pleistocene) 3k zwﬂ?
@ g (Holocene) afiy wﬂwﬁﬂ
Sgss
_m_ﬂ._vﬂ/mm \ )
33 CacE: fix o -
WS (gm/em® %) % i o H
& ﬂmﬂnw ? L wﬂ_ﬂ -
@ geft > ey Y > 9
(b) wmﬂm_ > mﬂw SRt s ™
o mﬁwvdmvﬁﬁ_m > 9fF
@ v > 5 >y ey
_m_/ﬂA_w.@mw&.ﬁJ.uwmﬁa Q%w
(a) ufygdy ﬂ,ﬁ@.ﬂ - ?
®) & sRfemr uw
© s g
@ &y
ﬂ.@ﬁ.ﬂﬁﬂ (Podsolizat;
A py T O
(@) foyadiy a9
(b)  AER 77
()] M...: e
B @ 23 (k
een Sw T y
e 3 o
(@) 9 afk — ?
®) R g (Usa)
©  IWT (USA) 3 ST
@ 1 3 e

56.

57.

5. A icle i T .
5 im.ma_n_m 18 moving in a circle of radius R | 59.
mgm_swﬁ. constant speed v. Its average
10n over the time when it
half the circle is : L moves over
2
v
(& —
R
2
34
b — .
R b
2v2 60
© — y
nR
(d o0
Two forces of 5:0 N each are acting on a point
mass. If the angle between the forces is 60°,
then the net force acting on the point mass
has magnitude close to :
(a) 86N
(b) 43N
() 50N 61.
(d 67N
Which one of the following is nof an igneous
rock ?
(a) Granite
(b) Slate
() Basalt
(d) Gabbro 62.
58. Which of the following statements is/are
correct ?
1. Hypocenter is the point on the surface of
the Earth, nearest to the focus.
9. Velocity of earthquake waves is higher
in denser materials.
3. P waves move faster and are the first to
arrive at the surface of the Earth. 63
Select the correct answer using the code given
below :
(a) land2
(b) 2and3
(¢ land3
(d) 3Sonly
ASGT-F-ENG (13-A)

scale,

In terms of geological time
quaternary period consists of two epo

They are :
Pleistocene and Pliocene

chs.

(a)
(b)
(c)
(d)

Holocene and Pleistocené
Pleistocene and Miocene
Holocene and Eocene

. . ﬂ

Which one of the following 18 the no:.mMm
sequence of arrangement of the given Ewbo.

ity (n

in descending order of their dens!

gm/em®) ?

(a) Earth > Jupiter > Venus > Saturn
(b)
()
(d)

Jupiter > Earth > Saturn > Venus

Earth > Venus > Jupiter > Saturn

Earth > Venus > Saturn > Jupiter

Which one of the following is not a cold

current ?
(a) Western Australian Current

Eastern Australian Current

(b)

(¢ Benguela Current

(d) Peru Current

The process of Podsolization is ﬁwm&cambmbn_%
found in :

(a) Equatorial forest

(b) Monsoon forest

Taiga forest

(O]

(d Mediterranean forest

Joint Military exercise ‘Keen Sword 23’ was
conducted between :

(a) India and Japan
(b) India and USA

() USAand Japan
(@ Japan and Taiwan
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%%aaeg@ﬂa@mﬂ s | 67, Pt & @ 2w
= m%@a&mgﬁggﬂmmﬂﬂ et JEHT u%.mwwmmﬂﬂﬂ
' sq? () Wﬂ@.@ﬂ o ? M:ﬁ ﬁ
(a) 1948 ®) 3 g4. The Battle of Re . ) .
) S R hostile i zang La, an epic battle in ¢7. Who among the following is not 2 recipient of
(b) 1956 © WA conditions, was fought by the Indi ?
Toed Armyin: y the Indian Nobel Prize in Chemistry i® 2022 7
(0 1962 @ %. 30 i @ 1948 (@ Carolyn . Bertozzi
@ 1972 68 b 1956 (b) Benjamin List
. it il w % gey 3§ (¢ Morten Meldal
¢ w fir 4 1
65. mwg Hmm o fafie-22 @xﬁ.n.—mo Sea Sm.:-mmu ¥ 1 it - W_.ﬂﬂd%ﬂd T © 962 @ K Barry Sharpless
i o w Fra AR R R R TR O @ 1972 .
1 T RW . Bl R | LN 8. Consider the following statements regardin®
i o T g R 7T W & 2. whas wifdE fafg 5. Consider the followin: cell wall composition *
# v 1 Fa B AR FA 2 TG B ‘Exercise Sea Vigil g statements abott A1l ge of
[ ercise Sea Vigil-22 : 1. Bacterial cell ¥ js made
2. ; 3. N L. .
M@w aﬂ.WMEE & e o T e viftrt ® sl iy T o 1. Its MB is to assess India's prepare dness vmvﬁmomwwawb.
e & | NET 2 T 3 in the domain of Maritim : .
I Fe A LLlE] Mﬁ% R mw.,_w_ﬂ_mﬁ._.w coastal defence. e security and 9. Fungalcell wall is made of cellulose:
¥ FHGVRHA T 2R ? 3 o m acellular matrix) BT § | 9. Naval forces of USA and Japan also 3.  Animals lack cell wall and have
(a) Fad 1 i F H T HFHE I took part in the exercise. extracellular matrix made UP of sugal
a) Had i . : .
(b) e 2 2 . MMWMW wm the statements given above is/are and proteins:
(b) haw 13 2 ’ Select the correct answer using the code given
© 13h 23R (© e 133 (@) Lonly below :
() 2only (a) 2only
@ Fd1 @ 1,233
A2 . (¢) Bothl and 2 (b) 1land2 only
6. : 9. Frafiifige :
et et e foram ifre - i3 wRd @ . @ Neither 1 nor 2 (9 land3only
L : IRED) (prokaryotic cell) i MM@ %n“&.mwx% @ 1,2 and 3
- &ﬂmﬂ_m W 2 A 100 T20 fvg (a) ity il ‘ 6. Consider the following statements : .
IR ST | b TEEEE \ 69. Which one of the following structures is not
2. fow Sk v (¢ HgH 1. England is the only country that won presentin 2 prokaryotic cell ? ,
i d ﬂm@ W 1CC 20 @ hagss wen the 10C 720 Workd G b by
Aﬂwﬁ 3w T Mﬂoﬂm SUEORCED) g (Plasma membrane) 9.  Virat Kohli . (b) Ribosomes
T %) FA | | 70, ey FARTH A i is the only player to be _
T E Y By A, frafafas & @ ! adjudged as the Player of the Series i uclens
@ g SRR R 391 DNA Bl 2 2 fop 3R egieat (@ Plasma membran
1 : : the ICC T20 World Cup twice. e
(a) o .
(b) e IR oTd=f : i :
T 2 Reticulu SfeAeRT (Endoplasmi Which of the statements given above is/are 70. In a plant cell, which one of the follow
{ m © 1323 & m) c correct ? contains their own DNA?
Q TESEm S
o @ ARLIH oot IYHIT (a) lonly (a) Nucleus and Endoplasmic Reticul
@ » 2 (c) mm_ﬂ?ﬂ eticulurr
= AS (Mitoch y (b) 2only ®) Rib
S ASCTRENG ondria) S e ibosome and Gl apper
. @ e it war © Bothland2 EpaLais
111 o
(1 (Vacuoles) (© Mitochondria and Chloropl
4-A) (@ Neither 1 nor 2 @ Chl plast
oroplast and Vacuol
ASGT-F-ENG eies
(15-A)
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(a) 1948

(b) 1956

1962
1972

(c)
(d)

‘e ot faf@-22 (Exercise Sea Sm:.mw. ED
ot 3 et Fo T ferm IR

L R R g o W WS
27 1 v I FA AR FA @ |

9 USA 3 9 i AT ot 39 s

o7, fffaa & & ®M a9 2022 §
e T A TE R 2
(a) FAfeH A, welesht
b swie o
(c) HieT Wesa
@ &. b wrdem

68. il s we & w3 iy
1 ham) wife fify
B |
21 S h 2
w.%&mﬂmﬂ%ﬂ%%mﬁﬁm

ﬂ@m_.m&.@ﬂ“
I fy
2. A% Hive PRy
THU A WER w W P

3w mm | ST (extracellular Emﬂm&%ﬂm |
s e 2 R T ﬁﬂmﬂﬁ@;%%%“
(a) 2
(@) Fad1 b a1k 2
(b) et 2 () ad 13K 3
© 13k (d 1,23R3
@ FAMLAH2 69. Fefafen & @ Fd som wmgH
. S v, HIRTEH (prokaryotic cell) # 7g¥ Bt 2
i _m_.am_ : () Hifdmem fify
1L e e R R 1cc 20 fiwe (b) TEEEm
W 3 91 e | © gw
9. R et T mmﬂ@ .w N 10C 20 Ev‘ mwmwﬂ %l (Plasma membrane)
T wmiqamy L "
it aﬁﬁgﬁ AL I S S S S N S —
N & ) e YT DNA BT £ 2
IFE T R A DAY w3 o . .
bl (a) wﬂmm R wﬂ.ﬂm& ElIE (Endoplasmic
Reticulum)
(b) *99 2 (b) TEEEW R el I
() Hﬁ% PXAC] (c) m”u_mwa_ﬁ (Mitochondria) 311t IGNER]
@ FqLAR @ wiadeEs 3R @Y (Vacuoles)
ASGT-F-ENG
(14-A)

4

|

64.

65.

66.

ASGT-F-ENG

m—

The Battle of Rezang La, an epic battle in
hostile conditions, was fought by the Indian
Army in :
(a)
(b)
(c)
(d)

1948
1956
1962
1972

Consider the following statements about
‘Exercise Sea Vigil-22’ :

1. Its aim is to assess India's preparedness
in the domain of Maritime security and
coastal defence.

2. Naval forces of USA and Japan also
took part in the exercise.

Which of the statements given above is/are
correct ?

(a) 1lonly
(b)
(e
(d)

2 only
Both 1 and 2
Neither 1 nor 2

Consider the following statements :

1. England is the only country that won
the ICC T20 World Cup twice.

2. Virat Kohli is the only player to be
adjudged as the Player of the Series in
the ICC T20 World Cup twice.

Which of the statements given above is/are
correct ?

(a)
(b)
(@]

1 only
2 only
Both 1 and 2

67.

68.

69.

70.

(d) Neither 1 nor2

(15—

A)

_sent of
following isnot 2 recipié

the
WL o et i U

Nobel Prize in Che
(a) Carolyn R. Bertozzl

(b)

(c)
(d)

Benjamin List
Morten Meldal
K. Barry Sharpless
arding
Consider the following statements reg

cell wall composition :
cell wall

1. Bacterial is made of
u%s.%m_va»u.

9. Fungal cell wall is made of cellulose.

and have

: k cell wall
3. Animals lack ¢ £ sugar

extracellular matrix made up ©

and proteins.

Select the correct answer using the code given

below :
(a) 2only
(b) 1and 2 only
(¢) 1and3only
(d 1,2and3
Which one of the following structures is not
present in a prokaryotic cell ?
(a) Cell wall
(b) Ribosomes
(¢) Nucleus
(d) Plasma membrane
In a plant cell, which one of the following
contains their own DNA ?
(a) Nucleus and Endoplasmic Reticulum
(b)  Ribosome and Golgi apparatus
(e Mitochondria and Chloroplast
(d)  Chloroplast and Vacuoles
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73. HFWAT H

71 % S el HGQll GRS =0 RS AT
71.

- I €9 A FETEAT T R | HH HROT

(a) YOIF 9 Wk 8 Iendd IR wafy
(offspring) TT &Yt & |

(b) EE-YE IR e Tafd A1 Bt & |
(c) IR HW Fafd YT et & |
(@) wafaal 3 st fftmar gt 2

iy fufy

(b) Siag=s e

(€  wif¥rigsr (cytoplasm)
(@ TTEfE eref

(a)

SIS (browning) st
ﬂn.@,ﬂngﬂﬁﬂ:wﬁgm e wR
@ WM e @R I ey

(b) gﬂﬂﬂ%ﬁdﬂ@

9 ,—/uﬂﬂw ﬂWﬂ.« ,&Wﬂw W&ﬂ
® S, o, 9, ity
© W, SR, 20w, wam
@ M, w19, iy

1D

76.

77.

78.

>MO4-_U|_WZO

(16—

A)

AARLLANIIAC [ s
1 3 e,y T 7 s
@ T R e S & 2
(b)  IHETHR Fefrem
© T g
d %umgﬂ._mwwaﬁs
PR Hehe forem &

R R Rt

ﬁ?@ﬂ%ﬁﬁ%ﬁwq

(@) EHe Rifpa
®) AT stffey
(@  wireamyT arfifipa
@ o sfufen
Mw%ww?mﬂ@@mﬁ#%ﬁm
@ T e (@ ) % ad
(b) qI F w8 F T
© e ¥ ad §

@ wF & ad7 § waa

S e 8 o o o

(a) ﬁ@mﬂﬂﬂﬁm&%ﬁ#

(b)  IRRfT F e

© TS B frm g

= M&%ﬁﬁ%ﬂﬂﬁ@ﬁ%aﬂmﬂ

71. One advantage of sexual reproduction over

asexual reproduction is that it helps species to
survive over long evolutionary time. This is
because sexual reproduction produces :

(a)

more offspring in each reproductive
cycle.

(b)
(c)
(d)

robust and healthy offspring.
genetically similar offspring.

more variation in offspring.

72. Which one of the following structures or

components is not always present in living
cells ?

(a)
(b)
(c)
(d)

Cell wall
Plasma membrane
Cytoplasm

Genetic material

73. Browning of the chopped apple can be

minimized by :
(a)
(b)
(c)
(d)

using table sugar.
preserving in a container.
using lemon juice.

using milk of magnesia.

74. Which of the hydrocarbons are arranged as

per the increasing order of their boiling

points ?
(a) Methane, Butane, Propane, Heptane

(b)

Propane, Butane, Pentane, Octane

(¢) Propane, Butane, Heptane, Methane

75.

76.

7.

78.

(d) Octane, Ethane, Methane, Propane

ASGT-F-ENG

; d
Which one of the following apparatus is use

i ?
re ?
for separating benzene and water mixtu

(a) Round bottom flask

(b) Conical flask

(c) Separating funnel

(d) Dean and Stark apparatus

An iron nail dipped in copper m_wuvrwem
solution turns brown. This is due to which one
of the following types of reactions ?

(a) Addition reaction

(b) Decomposition reaction
(c) Substitution reaction
(d) Displacement reaction

Among the following, which is not the correct
method for keeping the curd ?

(a) Keeping in stainless steel vessel
(b) Keeping in copper vessel

(¢) Keeping in plastic vessel

(d) Keeping in glass vessel

Toothpaste prevents tooth decay by :
(a)  neutralizing the excess acidity.
(b) means of emulsification.

(¢)  the action of fluoride.

(GY]

making a coat of calcium over the teet
surface.

(17-A)



pw ﬁﬂﬂ%%ﬁ%%gﬁm%my
&t
w (a) @n@w&mw
N ik
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< @ 1593 - 1894 3 T fagie &

£
o
o
O
S
o

0. et s () ¥ v § feafote &
ATMFF TR ?

(@ 3% i fofdl ) wEe ek
foran TR o |

(b) WWRI: 9N (ancestry) & YR T HHE
fum |

(c) ﬁmﬂﬂ%ﬁ%wﬁﬁﬂaﬁms
TUF TEes YW g gfea fom
T 85.

@ wEEeR B Ff off e A yER
for < o |

81. ﬂmwwmﬂ&aﬂﬁﬂw@anﬁm
TR i HRE = T o 0

(a) Tw ESIES
() W..& Iftgerd (Vansittart)
© T

@ i Fifart

82, Trfefien 3 3 feey

TR o

(a)

b) =g T

I H wm yefey

(18-A)

frafefes 3 @ f5e T B v @
et sl ga, AR R 2

(a) Eutl
(b) oA

(¢) HIeAdT

ﬁﬂv

(d) WUar

84, Frafefen # & fohe wm W v & vy

3 ot w=dt = 2

(a) _/mmmd (Chinsura)
(b) HEHA (Karaikal)
(© ¥R (Mahe)

@ o T (Tranquebar)

TF A ABCD, f BIFE gl a1 SFaaet aduy
& | TE gl 2, feh A 3R B #R e
e 2f 3R 3f H g W E, 3 AB v sy
T E, o % o § qufa mn R | g w3
o fafers ABCD SRR | B'C HADY
H I R ?

(@ 1
(b)

[SS]

(c)

(d)

wln N

9.

80.

81.

82.

ASGT-F-ENG

Freedom fighter Kanaklata Barua was | 83.

martyred in :

(a)  Sepoy Mutiny

(b) Quit India Movement

(¢) Non-Cooperation Movement

(d) Peasant Uprising of 1893 - 1894

Which one among the following statements | 84-
about the Mansabdari system is correct ?
(@) Al

mansabs.

army troopers

were allotted

(b) Mansabs were usually assigned on the
basis of ancestry.

(¢) Position and salary of mansabdars were
indicated by a numerical designation
called zat.

85.

(d) Mansabdars were never paid in cash.

Which Governor General of Bengal underwent

impeachment proceedings in the British
Parliament ?

(a) Robert Clive
(b) Henry Vansittart

(¢) Warren Hastings
(d) Lord Cornwallis

Who among the following composed the
‘Prayag Prashasti’ of Samudragupta ?

(a) Harishena
(b) Chand Bardai

(¢) Vishakhadatta

(d) Kalidasa

(19-A)

Which one of the following kingdoros SNM
founded by the two prothers Harihar an
Bukka ?
(a) Bahmani
(b) Vijayanagara
(¢) Malwa
(d) Maratha

/
At which one of the following places did e
Danes establish their settlement in India ?
(a) Chinsura
(b) Karaikal
(¢) Mahe
(d) Tranquebar

A rectangle ABCD is kept in front of a concave
mirror of focal length f with its corners A and
B being, respectively, at distances of and 3f
from the mirror with AB along the principal
axis as shown in the figure. It forms an image
A’B'C'D’ in front of the mirror. What is the
ratio of B'C’ to A'D" ?

—f —>

2f >
3f >

(@ 1

(b)

[

(c)

(d)

Wi M-
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87.

ym&dnmmgﬁ%ﬁahév 88 %%W@d%w
Y M R, ot o fem vy &1 h o T 7@ 22 q P
T T R 3 S A A T g s
o et @ o @ famme % ofomEE
ﬂﬁﬂﬂ.ﬁ%ﬁ%ﬂm&m%&w.ﬁﬁ
2 afol 9 v 7 fe xvz # @ 0
sfomrEEy, ¥ wEld R ge wErd

(a) W JR (blowing jet) T T 1 gy
I TR (note) H T F Fgfn
F2 |

(b) U5 JUR (blowing jet) T TN S -
ad, I W (note) % AR (pitch)

fopeor & o a2 1 4,
Fruffed =t 2 |
© GHF AT @ T TG T
@ty ot 2 |
@ g & sfee & wr g & D
T FEH Y T @ e ot 3

89. foreft W& M # T ¥4 AW (charge) zfm

(a) a=0

& a=0 A S 7t T R, el g e fem
(c) =920 %%E@ﬂaw_%z%ﬂﬂ

@ a=49 (a) W fewm #t 3R fadoss @ omm |

(b) d fwm 39 Frdes w9 e
(© S feam 1 s fadros ae e |
(d) mww@mwdﬂmﬁu%%_

M, wﬂuuﬁmﬂwﬁwﬁaﬁ@
gs%aﬁfgﬁa%_g@ww
T T 5 I @ i A o

Mﬂﬂwwwmﬁﬂw&ﬂziﬁ%é
%@igﬁ% AW 90, Frefefen § 3 o
] ﬂ.@aﬁ iWN ..%q Wmm %M.g ﬂ.m '
(a) e arSy
(b) it
(©  HTE 2R3
CI

Amol\:

JESESRESEEIE

Shown in the figure are two plane mirrors XY
and YZ (XY L YZ) joined at their edge. Also
shown is a light ray falling on one of the
mirrors and reflected back parallel to its
original path as a result of this arrangement.
The two mirrors are now rotated by an angle
9 to their new position XY 7/, as shown. As a
result the new reflected ray is at an angle o
from the original reflected ray. Then :

86.

(a)

88. Which one of

(b)
(c) o=28
(d o=46

87. A railway wagon (open at the top) of mass M,
is moving with speed vy along a straight
track. As a result of rain, after some time it
gets partially filled with water so that the
mass of the wagon becomes My and speed
becomes vo. Taking the rain to be falling
vertically and water stationary inside the
wagon, the relation between the two speeds v;

and v, is:
(a) vy =Vg

1l 2 1 2
(b) Mzw<u < m gw<w

() Myvy =Myvy

tatements is not

the following $
trument ?

true for a flute, 2 musical ins

plowing jet

s of the mﬁ.omﬁoom

(a) Momentum of waves on the

determines the Joudnes
note.

aves on the
the

w

(b) Arrival time of the
the pitch of

blowing jet determines
produced note.

Sound comes from 2 vibrating column of

air inside the flute.

(c)
vibrating column of

(d) Sound comes from a
side the flute.

air inside as well as out:

89. A positive charge is moving towards south in

a space where magnetic field is pointing in the

north direction. The moving charge will

experience :

(a) a deflecting force towards north
direction.

(b) a deflecting force towards east direction.

(¢ a deflecting force towards west

direction.

(d no deflecting force.

90. Which one of the following is not a main

greenhouse gas ?

(a) Water vapour
(b) Oxygen

(¢) Carbon dioxide

(d) Methane

@ My <Myvy

ASGT-F-ENG
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(a) #‘W@J
(b) FEHG,
© fg

@) e

93.

Frfefien Fot w formm ifsrw -

1 3 g oiR el g i ¥ A
FREATR |

2 feq oW W ¥ ofe B
e 2 & |
3. W B oden, wmm € FRE.
i 2 |
T A PR v
(a) ¥ 1
(b) dd 9
© % 130k3
@ 1,233
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4.

95.

96.

(22-A)

e i @ A T, WA F g
B s o

(a) A ol
T icc

AV I T &9 W I5An foe g g
() @ 3 e &

(b) g 3R o 3 A

() UggfufEm e §

@) e R sRES Jam o

B & ey IR F S,

g R 2

(a) AwqIg
(b) Cwg Sty
(¢) Amw Ay
(d) DfcSdaY

s dgE F oA § fmkfe § 8
FAVHR-A o TR Y 2

1 3 M o & S 3 |

2. 3 wdEe ¥ 33 § 9 Yge % fe @
R

3. THE T e % g9Am e A
ANGH T e fon o &

1 fu T e 1 e e v g

(a) 1,23 3

(b) e 238 3

© @1

(d) 3 2

91. Which one of the following statements about | 94.
X-rays is not true ?
(@)  They have wavelengths of about 1 A.
(b)  These can be generated by hombarding
a metal target by high energy electrons.
(¢)  Due to their wavelengths being shorter,
these can be used for radar systems.
95.
(d) These are also used for the treatment of
certain forms of cancer.
92. Which one among the following is the
northernmost geographical location ?
(a) New Delhi 96.
(b) Kathmandu
(¢)  Thimphu
(d) Dhaka
93. Consider the following statements :
1. Distance between the longitudes | g
becomes zero on North Pole and South
Pole.
9. Distance between the longitudes is
maximum on the Equator.
3.  Number of longitudes is more than
number of latitudes.
Which of the statements given above is/are
correct ?
(a) 1lonly
(b) 2only
(¢©0 1and3only
d 1,2and3
ASGT-F-ENG (@it

y . is the
Which one among the following states 15

. 9
leading producer of Manganese 1 India !

(a) Madhya Pradesh
(b)  Jharkhand

(¢) Rajasthan

(d) Karnataka

Mica is mainly used in :
(a) food and beverage industry-
(b)
(¢) aluminium industry.

(d)

iron and steel industry.

electrical and electronic industries.

According to Koppen’s climatic classifications,

the Great Northern Plains of India have
which one of the following climates ?

(a) Aw climate
(b) Cwg climate
(¢) Amw climate
(d) Dfcclimate

Which of the following statements about
Lachit Borphukan is/are correct ?

1. He was a General of the Ahom Force.

9. He is known for his leadership in the
Battle of Saraighat.

3. Lachit Borphukan Gold Medal is given
to the best cadet at the National
Defence Academy.

Select the correct answer using the code given
below :

(a) 1,2and3
(b) 2and3only
(¢) lonly

(d) 2only
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ms capable of using CcO2

Q. ;
98. WRg &
Q: 3R ISAfFETA :
A I ¥ % A9 T L0g. o F A F A 0O, F
O TEww @.%UGmehE% H1 =T ard d (organism) 1 FEAT B ? K2
S ™ o1 ? ’ s . .
& ? a 98. The 4 edition of joint military exercise 102. Organis
H._ T4 t 1 ‘DUSTLIK’ between the Indian Army and the carbon source are called :
(b) RS ®) e Uzbekistan Army was held in :
© . () Ranikhet (a) Autotrophs
) wE © et (b) Gangtok (b) Heterotrophs
@ e (c) Ppithoragarh (© Parasites
99. T & H , (@ Leh
T WA Mmﬁﬁo wawmq&@m (launched) f#a1 @ Decomposers
i w fefE T :
Pt & & S & 2 103, 74 A FAT O, FYRA (st : e is Indl
9 P (6 . starved) %,& w 99. Which of the following 15 India’s first privately
(a) EHIESE (Skyroot) ? .“ngnv Fal & G & T m,..w.h developed rocket launched by ISRO recently ? 4. f ambwmaod
0, starved, €
®) Prarambi) | TRUTTEET T mwﬁ w @ S yroot 103. When yeast cells are O2 S e . s in
© ? serves as the source of enersy: This results
WSk (Bazoomq) (@) ATP + CO, + THId (p) Prarambh .
- S © Bazo the production of :
fahu-S (Vikram-S) (b) ATP+0,+ ﬂwﬂm omq
(d Vikram-S (a) ATP+ CO, + Ethanol
oo T (©) ATP+CO, + dfFcH Ufii
TR 24x 7 %Qﬁ:@ﬂm%wﬁaﬁ d) ATP+0O i ® ATP + g + PYTTEE
= & T R R ) + teifoeeres 100. MSEnw QEM E_EEM the ?H:MEW villages was
ecently declared as ndia’s first 24x 7 () ATP+ CO, + Lactic acid
(@ R : . :
AMV - i 104 T - solar-powered village ?
, T ; ﬁm__m__ | &, fht femf 3 () Mawlynnong, Meghalaya (@ ATP + 0y + Acetaldehyde
() S 7, srumee vy ¢ ' m&ﬁ;ﬁimg& leaf peel) &1 T (b) Modhera, Gujarat
(@ e, ey vy fafm o | (Hypertonic solution) # (¢) Zirovillage, Arunachal Pradesh
e 7 3 IO a9 T, 39 fynef 3 (d) Malana, Himachal Pradesh
101. ﬂﬁm w @ Wwﬁ s m@ wqg ﬁw ﬂwwﬁ)ﬁ Wﬁw.@wuw_mﬁ@& £ gmﬂs .E«Imﬂ« ,wuwﬂ. 104. During a laboratory G%my@u\mgmbﬂu a mnﬁnwmbﬁ
, 2023 Kk . : . i : . -
% watay EIE) T uasmw @ . 101. Tableaux of which one of the following States pmmerses mv_mmﬂu& leaf peel in 2 HyRErionis
( : ’ ) 3 szﬂﬂﬁ i luti :
a) IrEe T | _— M.»m M&&m& the best in the Republic Day solution. After some time, the student
. ara ? i
e b 3 %ﬂmwﬂ@.@mﬂ rade, 2023 ? examined the cells under a microscope and
H of | plasmolysed) &l T3 () Uttarakhand observed that :
c)
o © 3T Fifiray 3 (a) thecell
@ THR Poni e cells swelled.
I Yoy Pressure) F797 | Qe (turgor ) jab
GT- (b
_ oSO eng @ 3 B o | (0 Gujarat )} the cells were plasmolysed.
oy MY (size) TgHIfad (¢) the cells bui
(24— A) (d) Uttar Pradesh cells built up turgor pressure.
(d) the cells size
was unaffected
ASGT-F-| ed.
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5 @ Fa, g .
) 106: Which one of the fllowing |
I8 not a|108.

) 1 AR | 106- prAferfEd .
¥ 78 gU A 4 wE e
syferframficTal =g 3, characteristic feature of fyng; 7
@ @ e wrd, T (a) Cell wall is made of chig,
(b T, daH, e, gifsm (b)  Filamentous mycelium is present
w Anv Can carry out
3 phot .
© 7 mﬁﬂﬁ% T aH & © Hifezm, 7, T4, T o s _ osynthesis
. exual spores are d
m%m«wﬂ@ R mﬂm%ww Produced
(&) @ @i, e, T, T

(d
Which one of the following statements about

106.
. . bryophytes is not correct ?
106. . ?
e 1 .&ﬁwsﬂmﬂwﬁmwmﬂ@@mw@ 109.
] ! a1 o T TET 27 i (a) The plant body is a gametophyte.
' @ 12w o g () B € | ‘
, (a) TS forga 1 gE ¢ | (b) They are also called the amphibians of
() 3 aEEy S % S o g \ plant kingdom.
. (b) 2 FIEH 1 TG 8 |
() ey T eI GRI TR 3 g g (¢) The plant body is attached to the
il (c) w%%éu_ (Fullerene) FIET FT TH ITEY substratum by rhizoids.
|
(d) SREINED . Yo
fafifeepd i femH g 8 | (d) Specialized water-conducting tissues
d) w%ﬁ ¥ a1, dwEe |q FIRAT TG T | are present.
|
107. FIgHAHO S F G N TS
& v 1 RS Yo o d 2 107. What is the specific purpose of using
110. Frefafea § & S, smify  fafmio # potassium  hydroxide  during  the
@ % A JH FH &= F R FAR yafer ughi 2 2 saponification process ?
! 110.
Toiobtain soaps which are hard on the
( Aeare
. M@ ST N FT R == o wwer ¥ e JhA (Ostwald’s process) E %
b 3 _ Gy n _soaps which are soft on the
SR T569 (Haber-Bosch process)

= (© ST g s
ST (c)
o d) mﬂ#ﬂs o . e - m@m w3ty (Electric furnace process)

o a3 vy

\mwm.ﬂ.\.ﬂ % .
o (Electrolysis process)

o (26-A)

(27-A)

he OOHHNQ&

i is t
lowing = order

Which one of the fol )
; a
arrangement of metals in the decT®
of their reactivity 74
(a) Iron, Sodium, Silver, CoppeT
Iron, Sodium

(b) Silver, Copper

gilver, Iron

(¢) Sodium, CopperT,

(d) mo&:n.r Iron, CoppPeT- silver
g statements is not

Which the followin
ich among o Carbon 2

correct with respect to allotrop

of
(a) Graphite is 2 good conductor
electricity-
(b) Diamond is the hardest substance
known.

Fullerene is oneé of the allotropes of

carbon.

Next to diamond, graphite is the second

(d)
hardest known substance.

Which among the following is the popular
method for manufacture of ammonia ?

(a) Ostwald’s process
(b) Haber-Bosch process

(¢) Electric furnace process

(d) Electrolysis process
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2. fefefen 3 3 #ha, oo &

SR T % T3 0 3 3 ) Fomr
27

(a)
(b)
(c)
(d)

F,CL,Br,1
Cl,Br,F,1
Br,I,Cl, F
L, Br,CL F

wehe fied, A9 n %
Wﬁ%w_ﬁi@imﬁﬂw%g

F AT E | fe i1 Feoan 3 4
I T R 2 e

(a) i
) T

) o

@ TS

(28-4)

i |

(fom) B3 o 308 ey
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(b)

116. @xﬁwmﬂ@ﬁa@&m@g 1947 3§

ﬁmm@mﬂwgaﬁ-.
wﬂwﬁmgﬁ@g%%fﬁ

@ e
(b) TSRy
(¢) +BR

(d) m_ﬂﬁ.&%

117. 0% R (Rabata) inscription) % at §
mﬂ@@iw%@gﬁa%ﬂ%? :
(@) Mm%ﬂﬁﬂﬁﬂﬁmﬁs@%
_

(b) ﬂm%ﬂﬁgﬁwgﬁﬁﬂ
wﬁw%ﬁm@w&sﬂ?

() mw.qgﬁﬁmﬂﬂ@aﬁﬁaw
forar mr 2 |

@ wﬂﬁiwiﬂﬁmw%ﬂm&
wﬁﬂwﬁzw_

el

111, For manufagy,,
following i us

(a)
(b)
(0
(d)

Jnm of Emmm

ed a5 5 Sour,

y Whi
; r_nr mgobm SJQ
Fine n_mw 80i]

€ of Silicg 9
Wood POWdey

Coconyt shel

Sand

112.
arrangement of hal
order of thejr oxidizj

(@ F,ClLBr]
(b) Cl,Br, F,1
© BrI,CLF
@ LBr,cLF

0g natyrg ?

—
5

Copper sulphate crystals available in the
market are blue coloured crystals, By carefy]
heating, they turn 1o white colour. Which one

of the following is responsible for the blye
colour ?

(a)
(b)
(c)
(d)

Oxygen
Nitrogen
Water
Hydrogen

114. Equal volume of all gases, when measured at

hr&fmpao temperature and pressure, contain
“an equal number of particles. Who proposed
the above law ?

(@) Charles

(b) Boyle

(¢c) Avogadro

(d)

Lussac

nE Aibags wor on the principle of a chemical
Teaction triggereq by the impact producing 2
£aseous product that causes a sudden volume
change, Which one among the following
chemica] conversions is responsible for this ?

@ Sodium azide into nitrogen gas

Solid carbon dioxide into gaseous carbon
dioxide
Carbon dioxide into carbon monoxide

Sudden conversion of gaseous carbon
dioxide into carbon monoxide

116. Which one among the following districts of

Eastern India held a referendum in 1947 to

decide whether or not to join Pakistan ?

(a)  Sylhet

(b)  Goalpara
(¢) Cachar
(d) Jalpaiguri

117. Which one of the following statements about

Rabatak inscription is not correct ?

(a) It throws important light on Kushana

genealogy.

(b) It refers to Kanishka as ‘a king of kings
and a son of God’.

(c) The 23-line inscription is written in
Gandhari language.

(d) It mentions names of States which were

part of Kanishka’s empire.

(29-A)
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FegH2% (Mrichchhakatika)' 1 TP ?

QIS
a1g
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EH

(a)
(b)
(c)
(@

119. 9T fFfafes § @ fow =9 &1 IS
o1 ?

A
LSS
LSS

wHfem

(a)
(b)
(c)

(@

120. fr=fafiga o & fra v Y Ay TEST Hl
T ¥ w9 § grefags Y T 2

(a fafemr
) fagar
(c) A 124
@ H
121. Fr=fafaa @l (astronomers) 4 4 fem
Tz frg e 6 geeht oft o 78 9 & =W
3R afrHT @ § ?
(a) wHIGHI
(b) IR
(© eifert
@ =g&A
ASGT-F-ENG (30-A)

1g2. Foreht e T (FAH AeT) T T 0-1 ke/s

123.

18-

ﬂ@ﬂ%?@w | 39 92 2 m/s
A&mﬂuﬂmwmﬂnﬁww@ﬂ@ﬁwﬂﬂ

et T e @ 7
(a ON

b) 02 N

¢ 10N

d 20N

119.

m.oﬁwﬂnﬂ%mmmpsﬁaﬁ*ﬁ%mﬂ
i & for feaet e Rl R 2 (Teefi
T 10 m/s® T §Q)

(a) 80W
(b) 160W
() 320W
120.
(d) 640W

2.0 kg GFH % TH @S ((F) H 30 kg
ZomT % g ES (i) & S T@ R |
iﬂ%wﬂ%%ﬂmﬁuﬂomw i
& G H AR 9 F A 76 @@ Gian IR
i 2F we wh a e @ & Rewwd €
e =R 10 m/s® R g, WO 5 H
a9 TR ] 2

121.

Who

am,

author owum»rmarwm wo=c€5m
‘Mrichchhakatikq’ oug wmsmrmﬂm

(a) Kalidasa -
(b) Bhasa

(¢ Valmiki

(@ Shudraka

Yashovarm
an was ruler of which
one of the

following kingdoms ?
(a) Kannayj

(b) Mewar

(¢) Marwar

(d Kalinga

Which one among the following rulers
established Pataliputra as the capital of the
Magadhan Empire ?

(a) Bimbisara
(b) Bindusara
(¢) Ajatashatru
(d) Ashoka

Which one of the following astronomers

proved that the Earth and other planets

revolve around the Sun ?

the | 129
. S
and falls vertically on a conveyor belt at a

rat. .

Eoo.o». 0-1 kg/s. In order to keep the belt
. ving at a uniform speed of 2 m/s, the
orce required to be applied on the belt is :

(a) ON
b)) 02N
(© 10N

d 20N

123. The power required to lift a mass of 8-:0 kg up
a vertical distance of 4m in 2s is (taking

acceleration due to gravity as 10 w/s?) :
(a) 80W

(b) 160W

() 320W

d 640W

124. One block of 2-0 kg mass is placed on top of
another block of 3-0 kg mass. The coefficient
of static friction between the two blocks is

0-2. The bottom block is pulled with a

horizontal force F such that both the blocks

move together without slipping. Taking

acceleration due to gravity as 10 E\mw_ the

maximum value of the frictional force is

(a 50N
() 30N
(¢ 4N

@ 10N

(31-A)

(a) 50N
(b) 30N (a) Copernicus
() 4N (b) Kepler
d 10N (¢) Galileo
(d) Newton
ASGT-F-ENG
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weF @ 2 | wE § sciia fen g ®

6 cm ® | SigAT Y Hag T Tecg O H A,

geeft ) wag W e @ & qH H S

yT R | ggw W eAE W fawm w0
g ?

(a) 6cm
(b) 1lcm
(¢ Ocm

(d 36cm

126. Ffafag & @ =W, fgdia St Soies

127,

Rrepp.in

WWWwW

SGT-F-ENG

(Lever) T J5T&T0 2 ?

(a) &=t (A pair of scissors)

(b) SIqe YT (bottle opener)
(0 TrhewIa
(@ =99 R @R

et fog o &, 100 9RAY 1 @ @)
S R TR R | A 38 A R wffe = e
AT $Hh SRIRF WM (original value) ¥ g
%—Qﬂwmdﬂgmﬂ_d

(@) 3 YRIF A 1 et B s |
(b) ﬁﬁwz@ﬂau%ﬂ&%a_
(©) S RIS 7T A wherd @ et |
(ST S w1 < ) et |

(32-A)

(a) R/2
() SR
() 3R/2

(d 2R/3

120. yraErET A & dwta et §

Fr-xh () Wi 8 2

1. o 851 qeh Tk G faehiad T
2. o qgh & A

3. U FMES HI g&aT § GUR

e fow T e BT T W T W gAT
(a) %ad 1

(b) a3

(© Faw2air 3

(@ 1,233

130. HEA Y6 Y Y5} R A7 § ST T o472

(@) YR 9o
(b) TR 1o
() hiee Toy

d Wﬁgﬂﬂ

126.

127,

Moon would be ;
(a) 6cm
() 1lcm
(¢ Ocm

(d 36cm

Which one of the following ig an ex
Second Class Lever ?

ample of
(a) A pair of scissors

(b) - A bottle opener

(¢) A cricket bat

(d) A bow and arrow

In an electric circuit, a wire of resistance 10 Q
is used. If this wire is stretched to a length
double of its original value, the current in the

circuit would become :
(a)  half of its original value.
(b)  double of its original value.

(©  one-fourth of its original value:
ginal value.

(d) four times of its ori

33-A)
ASGT-F-ENG A

cmcoon 128, What ;
M the at is the total resistance in the following

circuit element ?

(a) R/2
() 3R
on.\ 3R/2 &
d) 2R/3 «Nﬁ\l
s
>

129. Which of the following scheme(s) is/are

included under Bharatmala Pariyojana ?

1. Develop the road connectivity to border
areas

2. Development of coastal roads

3. Improvement in the efficiency of

National Corridors

Select the correct answer using the code given
below :

(a) 1lonly

() 3only

(¢) 2and 3only
(d 1,2and3

130. Deendayal Port was earlier known as :

(a) Paradip Port
(b) Tuticorin Port
(¢) Kandla Port

(d) Visakhapatnam Port
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155, i i & sRa, Pty SIE

181 e 4 9 e G I TN ama 9@ (lowermost/innermost intrugiy,
s AW fR@i igneous rock) ® ?
L@ @ JwIR Laccolith)
w AS w?nwmu i ange (b) Seif (Batholith)
i © (¢) e (Lopolith)
S @ (Mhow) .
= . @ FHfY (Phacolith)
132. YERSF W3R (soil-forming regime) , N M_
wﬂﬂ.m%%mﬁwﬂ%%@a ” awim%w%ﬂwzﬂ.w,&@ﬂ,cx
o N g ? o )
mw_ Frafafea § @ S amn P
(@) eV (Calcification)
b) T (Laterization) (a) 6:30A.M.
(c) UTSEEIWET (Podsolization) © 6:30PM
d Y (Gleization)
] © 5:30AM.
133. Pefofea & & S, gt % sioem wm 3
9T ST R 2 @ 5:30P.M.
(2) HAE I (Conrad Discontinuity)
Maw i ﬁaﬂ.?g Discontinuity) 197, 9, 7o o w3 A P § 3 Bt
c uﬁm._ HYAE (Guttenberg . ) )
Discontinuity) () e AR (Spring tide) ¥ foy
@ W T (Lehmann Discontinuity) I R 2
134. Frfafaq o @ e 38 i (aT) e w 1. SYZYGYd (Conjunction)
S I 7 2
2. SYZYGY fgf¥ (Opposition)
L 3% (Oak)
2. &@WMA (Rhododendron) 3. wWhwfRYfy (Quadrature)
3. &m_um‘waomosoo& ﬁgﬁﬁmﬁu&:mﬂdﬂ%%ﬂ
7 R T e 1 e @
a,
(a) Fae1 )
b 233 ®) a9
© 133 © 13ko
@ 139
@ 13ks
ASGT-F-ENG
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e Counter,
_“_‘ Thi -. mﬂmﬂﬂwmﬂaw ang
8chool of Indiap Army is .:sn_m -
mmgm»‘o wi.w—d 1
Dehr dat, 35, W
Amv m.&g N”.—nf oJm of the wozoibm is the
(b) Vairengte CTmost/innermogt, intrusive igneous rock ?
(© Gulmarg (a) Laccolity,
(d) Mhow
(b) Batholith,
o2 In ?m. mon-».cgwsm Tegime, whie (©) Lopolith
following oceurs i . one of the
§ Tegj
evapotranspiration eXceeds 0 wher, @ Phacolith
significantly ? E.msv:wﬂos
(a) Calcificatiop
(b) Laterization 138. H.m it is 12 noon in New Delhi, what will be the
(¢)  Podsolization time in London, UK ?
(d)  Gleization @ 630AM.
] ® 6:30P.M.
133. Which one of the mo:oinm is found n the
innermost part of the Bart, 7 © 5:30AM.
AWV . OOEW@ &mncﬁgﬂmg (d) 5:30 P.M.
() Moho discontinuity
(©)  Guttenberg discontinuity
(@ Lehmann dis continuity 137. Which of the following positions of Sun, Earth
and Moon is/are suitable for Spring Tide ?
134. Which of the following tree species is/are 1. SYZYGY Conjunction
found on Himalayas ? GY0p
2. SYZY position
1 Qak
; dratur
2. Rhododendron 3. Quadrature
3. Rosewood Select the correct answer using the code given
Select the correct answer using the code given Delox:
below : (@ 1lonly
(@ 1only ® 2only
(b) 2and3 © 1land?
(d 1and2

ASGT-F-ENG
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U & wfreaa % w9 #, R
142. F9 et A e (plan  allocation)

£
o
o
O
S
o

_am.ﬁjﬂsﬂ%mﬂﬂzwﬂmﬂmﬁ

(The Last m:vvmi. fafa foean o ?
HIEEUIE (Michelangelo)
STl (Donatello)

£l w&& (Botticelli)
el @1 fi (Leonardo da Vinc)

(a)
(b)
(c)
(GY)

139.
W e y| 6 2

(a) TR f$ AT (Vasco da Gama)

(b) smiieing fEAS (Bartholomew Diaz)
(c) TS (Magellan)

(d) T P (Hernan Cortés)

140. wa ¥ frefaRea #§ & fha R & fe FI0

wTEh! HI FECHR fomnd @t 7 € 2
(a) HEA

() U9E (Ropar)

(0 TeEw

@ wga

141, ier A dfu Fefufea F ¥ fea
Hew i fr 2 % &

(@ W Frq-af Ig
®  fefe st g

(©) A-Fh Ig
@ IR g

ASGT-F-ENG

e § @ R g w3 A

144,

143.

7 g=IaH A1 ?

UN COP-27 Rrgrarie fhed Fefea @ 2

(a) T I8
) AT IR AEHAT e

Aooggn.emﬂclmuuv
(© weag TREd
@ IO

IR & Il & <l FefaRaa senfeat #
¥ foraw w1 1 F i I F Ty TR

U1 §19 HY (earliest known association)
qu?
(a) @
®) TR
(c)

)

o

139-

140.

141,

ASeT-FENG

ich Renaissanc .
Whi g e artigt Painteq
supper

) Michelangelo

® Donatello

© Botticelli

@ Leonardo da Vinci

jch one of the followi
Whi : owing European explorer
conquered Mexico ?

(a) Vascoda Gama
() Bartholomew Diaz
©) Magellan

(d) Hernan Cortés

Near which one of the following cities in India
have large statues of Kushana rulers been
discovered ?

(a) Karnal
(b) Ropar

(c) Hisar

(d) Mathura

The Treaty of Yandabo was concluded as part

of which one of the following Wars ?
(a) First Anglo-Burmese War
()  Second Anglo-Burmese War
(©  Anglo-Kuki War

(@  Anglo-Maratha War

n‘?@ r
a8t | 142. Plan allocation in agriculture and irrigation

as percentage of total plan outlay was highest

in:

(a)

(b)

(©

(d

(a)

(b)

(c)

@

Seventh Five-Year Plan

Third Five-Year Plan

First Five-Year Plan

Second Five-Year Plan

143. The UN COP-27 Summit relates to :

Russia-Ukraine war
Terrorism and counter-terrorism
Climate change

Interpol

144. Which one of the following tribes from India’s

North-East had the earliest known
association with cultivation and production of
tea?

(a) Khasis

(b) Garos

(¢) Singphos

(d) Jayantias

(37-A)
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e_w.i&@%a%%aaw e e 0 3 B T 8,
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B ;i s T it wMMw SIS
(@) @iauH (agat waiv) SR gsamwﬂamﬁw - amt
(b) n@uﬂﬁt&ﬁgvm@ﬁu ® %wﬂm&@uﬁﬂ%maﬁvﬁd
ik

(o dfae @58t i) SR
@ e @2at gty At

ﬁa.%mw%.ﬁﬁﬁﬁﬂf

(a) ﬂwﬂﬂm&ﬁﬁmﬂﬂﬂwm&ﬂﬂﬂﬂ
¥ e A U R |

®) ﬁﬂ&sﬁﬁmﬂ,&aﬂm&
¥ 7o 7 A A R |

© &aﬂmﬁﬁmﬂmﬁ%m&ﬂ

@ ﬁaﬂﬁﬁuﬂﬂ%mﬂﬂ
g 1 T Wt wrn i e € fRg
foratia femafi 4 2 1

147. @ g W@ 220V W BOW F ® A
GRuRE (rated) 3 | 5 38 110 V W Y=o
T S w. @ wfw gfuto (power rating)
R 2

(a) 80W
(b) 60W
() 40W

d 20W
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© mﬂ%ﬂwz@mwm@m@ﬂw
%wﬂmmﬂﬂﬂﬂ%mﬂumﬁ

o §
@ i%ﬂ@%@d@d@ﬂw«
i B A SR ST S

Emﬂdqﬁnmﬂ@%mﬂwﬁﬂﬁmﬂ@ﬁm

FaammEae?

@ it agfe W sty B A
R

() v SR TR S SR
arferes 2 @

(© v ghwE w ety S ST
A 2t &

@ FER qoRe W @i A 9 e
F el 3

149.

_%.@ﬂ@@mmwgﬁuﬁgﬁwdmﬁﬂ
T E

(a) Weicla <SG
) FAfEH g
() Hﬁm& mm.&u

@ R (Schmiat) g

(38-A)

icle n,
g . 14, Telating :_m amendmentg
Duties, inserted iy, o Fundamentq]
e

b

s ocumﬁcson of
(a) The Constitutiop (49na

?%iso:s Act
@  The Constitution (44th

Emzmsozs Act
© The Constitution (gsth

Eouasmus Act
@ The Constitution (9gnd

Amendment) Act

Which one of th .
e true ?  following statements is

(a) The force of gravity of the Earth op the
Moon is greater than the force of gravity
of the Moon on the Earth.

(b) The force of gravity of the Moon on the

Earth is greater than the force of
gravity of the Earth on the Moon.

(¢) The force of gravity of the Earth on the
Moon and of the Moon on the Earth are
equal in magnitude and are in the same
direction.

The force of gravity of the Earth on the
Moon and of the Moon on the Earth are
equal in magnitude but are in opposite

directions.

(d

An electric bulb is rated as 220 V and 80 W.
When it is operated on 110V, the power

147,

rating would be : _ W\
(a) 8OW @ g/a\xwo
(b) 60W
© 40W
@ 20w

ASeT-r.EnG

148. In the dispersion of white light by & common

149.

150.

(39-A)

glass prism, which one among the following is

correct ?

(a) Red light deviates the most because red
light has highest speed in pris/m

(b) Blue light deviates the most because
blue light has highest speed in prism

(©) Red light deviates the most pecause red
light has lowest speed in prism

(d Blue light deviates the most because
blue light has lowest speed in prism

Which one among the following is true for the
speed of sound in a given medium ?

(a) Speed of sound remains same at all

frequencies
(b) Speed of sound is faster at higher

frequencies

(0 Speed of sound is slower at higher

frequencies

(d) Speed of sound is slower at higher
wavelengths

Which one of the following telescopes contains

only mirrors ?

(a) Galilean telescope
() Keplerian telescope
(¢) Newtonian telescope

(d) Schmidt telescope
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